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Section : General Intelligence and Reasoning
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Question ID : 26433068853
Status : Answered
Chosen Option : 1

Q.2 uw [Af¥a g Ut #, 'ADVANCE' %1 'VDAAECN' 1T STt 8 3% 'BABYSIT' &Y
'BABYTIS' foram SiTar 81 S {91 & 'AFFABLE' &9 forar simem 2

Ans X 1. FFAAEBL
« 2. FFAAELB
/< 3. AAFFELB
/X 4. FFAALEB

Question ID : 26433059884
Status : Answered
Chosen Option : 2




Q.3 7R gl & 39 I Ao &1 994 SIE ok wie U« F WA RITA R

o T wfieRur wgfera g1 wrem|
35%5%7*2%19 =42

Ans X 1.+ %, - -
2.0 %, 4+
o R
4%+ -+

Question ID : 26433068598
Status : Answered
Chosen Option : 4

Q4 IR 3eR-uqg 3y e & R & & faht 1 feht ave 3 vorawm § ok U e 1
I SR JH&R-HHE HT I Piforg|
Ans X 1.MPT

X 2.GIN
X 3.FIM
« 4.DGl

Question ID : 26433068502
Status : Answered
Chosen Option : 4

Q.5 R RT T uy ¥ $© BYH R I7F q1E S HYHI W nuTia $o Frewd g §1 Ry
T YT B e A, YA & ST JTHIE: FId Tt A firgar g | 9 e 1 ofik R
Fruifea ¥ & 19 @ freed, T 7T ST &1 aifhs wu & SERu Hd 81
DY
. O HhE IR &

Il. S ¢ R T8I 21
e

1. 9t T Fbe §

Il. T8 PR Tbe 8

Ans X 1. %1 i Frepe SRy T8l e &

7< 2. Haq FIwhy | 3R FRAT §
X 3.1 11 ST i SRERr Ra §
o 4. Had sy || SRR HRaT §

Question ID : 264330104909
Status : Answered
Chosen Option : 4




Q.6 A T wyl iR el &t T | g% AT gU % Pyl | & i wmer s
g, Yo € 98 9 U A §1d 9 ¥ i udta g 81, fAvfa Y % fow e a9 @
PI-TTR frepd FYA(EY) BT qIfb® UV TR0 FIarHId e8|
DY
PO TR U ¢
PIs o4 R T8 81
I T T
e

. TO URRI & 96 g1 BT FUTT 71
I1. B geor Freme T8 81

n. g 19 e 21

Iv. B TRR frem T8 81

Ans o 1. 530 FSPY | SR Il STERU R &
X 2. Faq w1, 11 3R IV ¥R HRd §
X 3. Fad B 11 SR 111 SFER0 R §
7 4. Had B | SRR IRl §

Question ID : 26433070343
Status : Answered
Chosen Option : 1

Q.7 I fapey &1 999 B &l T HEn I S0 ver G6iia § o ger gad) e ugedt
@ A 3R T T uiedl HErm @ Hafid g1
24 :840::27:7::33:1452
Ans X 1.297
X 2.729
X 3.756

 4.1026

Question ID : 26433068375

Not Attempted and
Marked For Review

Chosen Option : --

Status :

OF gdor 3 fner o & R MN' TR TRt @, R e dee & @ A
T 90T wfafes &1 =aeT Hi
M
bjF87s

N
Ans X1 2V84(9
v22v87(d
x3s5/.817jd
x4+srg8ild

Question ID : 26433068199
Status : Answered
Chosen Option : 2




Q9 'A@B FTAIZ A BHEIURAYI
'A&B PTATR A BIIAEIRI
A#B PTAdE B, AT TR &
IR GHH&I@J & KT, A H, J T 5T yoR Jdfea @2

Ans X' 1. g
X 2.8
2< 3. 11l
& 4.9

Question ID : 26433068457
Status : Answered
Chosen Option : 4

Q.10 I ATy FT 99 B Wil Uid HER-TYE § I UHR Vel 2 o UpR gaRT 3Her-
TR UEd E&R-TYE A AT § 3T AT 31&R-Tg TR 3IeR-TYg A Wafea g1
BEAR : DFCS :: FEEL : HFGM :: MANY : ?

Ans 7 1.0BPZ
/< 2. OBPY
/< 3.0BQzZ
/< 4.0CPZ

Question ID : 26433068510
Status : Answered
Chosen Option : 1
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Question ID : 26433068469
Status : Answered
Chosen Option : 1

Q.12 I FAPeq F1 994 HY, il Ui HeR-THE A IW TR Heftd 8, oy wpR oy 31eR-

TUE UTH S&R-TUE § Tl € 3R AT SieR-Tgg TR 3eR-T9E W et 21
LAMB : DPEQ :: MOTH : JWSR :: NERD : ?

Ans X 1.FVIS
X 2.FVJS
 3.FUIS
X 4.FuJs

Question ID : 26433056193
Status : Answered
Chosen Option : 3




Q.13 TS 3gepH faar T B, o | v ue g 21 2T e fawenl #f 9 98 9%t fawew g, st
SSh Y B R BRI
RTM, VZX, ZFI, DLT, ?

Ans X 1.TMO
X 2.HRS
« 3. HRE
< 4.RST

Question ID : 264330104800
Status : Answered
Chosen Option : 3

Q.14 @3t & fAun JYg &1 994 B (W & JBS FI 3% Jued P! A fqurim fre
3, gof wemsit R wfthard freafea @Y el @i Serevor 13+ - 13 W s o
1% 13 H SisA/EeHIATU ST 31fe a1 wdHar 31 13 i 18R 3 § dis 8k ok
fi5¥ 1 3R 3 WR Y WAt oA F1 srgafa T8 @)

Ans X 1.(10-100 - 95)
2< 2. (20 — 400 — 395)
3. (15-220 - 215)
X 4. (25 - 625 — 620)

Question ID : 264330105091
Status : Answered
Chosen Option : 3

Q.15 gqmwﬁﬁﬁammaﬁaﬁmmﬁw,ﬁaﬁ@aﬁﬁﬁqmma%ﬁﬁ

x YT —, 8 TYUT 4
L4+3x8-2+1=3
N.8x2-4+6+2=1
Ans X 1.1 quTIIgHl
X 2. %ad|
& 3. Fad i

XKaAgiad

Question ID : 264330105142
Status : Answered
Chosen Option : 2

Q.16 T fAfda g uTaT A, 'FUEL' Y '50' & U & Feds fHa1 SraT § 3% 'JEER' &1 '44' &
¥U H Hed fbar wrar 21 3t UTeT ¥ 'FARE' 31 f WR Beds foar e
Ans X 1.34
X 2.38
 3.36

X 4.40

Question ID : 26433067343
Status : Answered
Chosen Option : 3




Q17 gqnmwwaﬁﬂgmmﬁ$mﬁﬂamaﬁah?ﬁﬂaﬁﬁaﬁwm

729 x 81+ 20 + 16 - 6 = 50
Ans 7 1.63R 20, x 3R +

2 2.16 3R 20, + 3R =
7 3.16 3R 50, x MR +
2 4.20 3R 50, + 3R -

Question ID : 26433087053
Status : Answered
Chosen Option : 1

Q.18 fafafaa & @ $19 11 sieR-uqg &t ¥ Jaar # uufg (?) & RIFE W 3mwm?
NAME, NEME, ?, NOME, NUME

Ans o 1.NIVE
< 2. NKME
2 3. NMME
< 4. NJME

Question ID : 26433059856
Status : Answered
Chosen Option : 1

Q.19 el § ¥ 39 TS BT 994 PIore st 7 Joft & wyfrg (7) & =M R 31 et B1
5,10, 17, 26, 37, 50, ?

Ans X 1.76
< 2.58
& 3.65
X 4.54

Question ID : 26433067513
Status : Answered
Chosen Option : 3

Q.20 I APy P19 PR Y 3T T <l & 39 I 7 & AeRa sear g S wpud

STt T Ir # o F

1. Inundate

2. Invidious

3. Individual

4. Inveterate

5. Invective

6. Invincible

7. Inviolable

Ans o 1.3,1,5,4,2,6,7
< 2.3,1,54,6,27
X 3.1,54,2386,7
< 4.1,53,4,2,6,7

Question ID : 26433068931
Status : Answered
Chosen Option : 1




Q21 39 F1 99 B R TBmg amuw # It yeR wafta § v ver Fafifea
S e et 1
(Fite: Tl F IuF geP it & il fg fam, gof wemnsei w nirhy wfearg #t
S TIRT | ISTeRVT & T 13 - Kty Aferant SR % SisArae AN S3-1 3afs 13
T forar o1 warar 81 13 BT 1 30 3 & v w1 3k 67 1 3R 3 W wifvrdia wifdrang
H o1 AT T 2 1)

(16,7, 37)
(28, 9, 55)

Ans 7 1.(13,4,25)
X 2.(19,6,36)
X 3.(20, 7, 45)
< 4.(23,8,48)

Question ID : 26433074557

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q22 gRRA+BHT IS EF A BFTUER AxBHIATEfF A BHITgT8, A-BHTAST
gA,Bmm%,amﬁﬁﬁmmwmm%,%P, R @& 95
Ans X 1.PxQ=+R
X 2.PxQ+R
¢ 3.PxQ+R
X 4P+QxR

Question ID : 264330105007
Status : Answered
Chosen Option : 3

Q.23 39 BT T FIoE Ford T=d oy & S veR wafita § o yor el
| 5t IEIE e | el g1
(Fite: Tl B TP gew il | fyurima fory fam, gof wemsit wr nfvrdig wfean #t
ST T1RT | ISTeRvT & g 13 - Kty Tfrane SR % SisAae AN ST 3ifs 13
¥ foraT &1 FaT1 81 13 BT 1 3R 3 H fAUTRTT S 3R bR 1 3R 3 wR nifdrdig wfspame
H P rgafa T 81)

(40, 120, 400)
(18, 20, 78)

Ans X 1.(25,27,92)
& 2. (29, 23, 98)
< 3. (11, 720, 660)
< 4. (56, 14, 108)

Question ID : 26433076706
Status : Answered
Chosen Option : 2




Q24 e ag-yEer # I W@ F e s AR () F e W

Fher W RweT W 3w TR
P O Aflz ¢ PO © Ajlo P O
o s clo 2 =z s pPle 2 ¢ ?
= OO0 & Alo € =|= Z A
Ans — ¢ 0
x1|P S 7
A O [
= ¥ ©
X2P22
A o [
= /Z A
xs10 ¢ O
~n P C

Question ID : 26433076647
Status : Answered
Chosen Option : 4




Q25 e FTer F A RE@T 3R Aer #RX Fer e # FEe # s
W 7E Hr e e

Ans
O O
Ve av
00
OO
x2 LA P A
V& av
ON®)
O O
Ve av
o O
O O
i CAG IA
Ve av
ON®)

Question ID : 26433080560
Status : Answered
Chosen Option : 4

Section : General Awareness

Q.1 fis &t 71fe TaH wu | @la 113 1 ¢ IeEru 21
Ans X 1.fRM™

X 2.1g

X 3. Wagfas

4. 09 =0 9 iR areft

Question ID : 264330105461
Status : Marked For Review
Chosen Option : 4




Q.2 1857 & oia fafewr e & faew 93 UM W fasis gon, a9 qre THTe S U1?
Ans X 1. BRERER

2. TEIGR XM TAH

X 3. IHR g

X 4. T

Question ID : 264330105547
Status : Answered
Chosen Option : 2

Q3 mﬁmgmsﬁwﬁqaﬁaﬁm@wma& & forg pawmfn
REHR T FH foman war g1

Ans 7 1.2021
< 2. 2020
< 3.2022
< 4.2019

Question ID : 26433054480
Status : Answered
Chosen Option : 3

Q4 gﬁzozzﬁmﬁuuﬁaﬁaﬁvﬁﬁwaﬁ%mﬁaw&f%mﬂﬁﬁmﬁa%mw
?

Ans X 1. 3 aTfe

2. A g g
X 3.3 I PR
X 4. ca=fy gist

Question ID : 264330105336
Status : Not Answered
Chosen Option : --

Q.5 gt W IR WM T od &1 e ufa=a ggramRY ® uran siar 82
Ans X 1. 94 TfaRid

X 2. 922 gfa=rd

2< 3.90.2 yfc=rd

 4.97.2 ufa=d

Question ID : 264330105624
Status : Answered
Chosen Option : 4

Q.6 Rateger wirfere ardf &1 wirgT Ags
Ans 7 1.1940

< 2.1936
< 3.1925
X 4.1929

Question ID : 26433085288
Status : Answered
Chosen Option : 3




Q.7 7% el sty wegwan g (=ies) Ada®, 2022 HY

o mar T
Ans X 1.6 RyamR, 2022

o 2.5 3T, 2022
X 3.7 AR, 2022
X 4.8, 2022

B APIHT A U

Question ID : 264330105225
Status : Not Answered
Chosen Option : --

Q.8 2001-2011 F TN FI P IfZFR___ &I
Ans X 1.16.70 ufawa

o 2. 17.70 Ufa=rd

7 3.18.70 Ufa=rd

X 4.15.70 Ula=d

Question ID : 264330105536
Status : Answered
Chosen Option : 2

Q9 fFufafed & ¥ wi=-ar o gafa a8 82
Ans X 1. TR T U S AT S — TSfed S
o 2. THICR | U1 S aTdl 3 — WiH® 3
7< 3. SR T U S ATl S — TR 3
X 4. SRR HoRE  UTT S dTal S — SR S

Question ID : 26433082215
Status : Answered
Chosen Option : 2

Q.10 Fg I RIS Uihar (Ugar) [Aa® 2022 THF U a1 Adus 9w fFa11 g8 fadus

¥ wifod 51 REreT siftfaw & fFrea &< 3m|

Ans X 1.1945
7 2. 1950
 3.1920
7 4.1930

Question ID : 264330105223
Status : Answered
Chosen Option : 2

Q.1 ﬁaﬁ%@aﬁﬁﬁﬁg%w-ﬁaﬁwm@miﬁwaﬁ?wﬁ%wﬁm&
HAT 22

Ans 1 RIS
2 2. 3nfareT
X 3. Wfeat
X 4. THEASH

Question ID : 26433087855

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.12 YA ¥ S¢ BT Ugel SRET Pl RTfUa fvar war ur?
Ans X 1.%&3,\3?[%5“

X 2. g, BTG

2< 3. 3ifia, sy yew

4. Rug, ufgm §me

Question ID : 26433089219
Status : Answered
Chosen Option : 4

Q.13 THd WURIS "reT F P71 SR B
Ans X 1. 9&Hd JASH NI IeT 3R AT Hifterat

o 2. THT ASTH NI bTeT 3R Y Tl Sgaraif
2< 3. oI ©TeT 3R SIS UTfeerat
X< 4. I ITeT 3R T YA

Question ID : 264330105365
Status : Not Answered
Chosen Option : --

Q.14 PrEfifad # § SH-91 de T 7o Y ey | Hafia 781 82
Ans X 1. Gaufd

2. 775

X 3. Hc@!

¥ 4. &R

Question ID : 26433064649

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.15 f¥g FAS F AR WRA & &/ S S HATIT 14T 32
Ans 1. oM, g O

X 2. g, srrg HrE

X 3. ST, HTqUT Y

X 4. SMETERIT, 39T T

Question ID : 26433070820
Status : Answered
Chosen Option : 1

Q.16 HI[YTS BIFYTS Ued B! Jars 2021 A F IeuuTd & T § Fgad far
Tl

Ans X 1. 3RUTET UG
2. I U
X 3. e wew
X 4. WU

Question ID : 26433054554
Status : Answered
Chosen Option : 1




Q.17 RS @a 2018 FafafEa & @ e 3w o smaifom frg g A2
Ans X' 1. SO

X 2. 3 sifear
X 3.d-
4. SSARm™

Question ID : 26433070835

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.18 2019 ® Wfid ATe® 3rbTgH el &I fraaT Adhg RIBR (T 1) fam mare?
Ans X 1. ¥4 @

x2 31 o™
X3 32 g
v 4 33 o

Question ID : 26433082152

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.19 Fufifed § A o9 w1 9@ aia F et frarfia 22
Ans ,/1.1%@

X 2.3

X 3. wfew

X 4.9

Question ID : 264330105476
Status : Answered
Chosen Option : 1

Q.20 YR & AU F 0 Agede & qgd Sha- R TadTdl I & WA 82
Ans X 1. 3fJ®G 24

< 2. 356 23

3. 3G 21

X 4. 3G 20

Question ID : 26433074895
Status : Answered
Chosen Option : 3

Q.21 fgfrfad # 9 F9-91 JIST A8H 82
Ans > 1 CaCl+ CaO

« 2. NaOH + CaO
X 3. Ca(OH): + Ca0O
X 4 KOH + CaO

Question ID : 26433066464
Status : Not Answered
Chosen Option : --




Q.22 fgfifaa & 3 f5a RIF #2022 & TRRTS Wl BT AT AT 7497 4712
Ans X 1'{%@?3‘?&1‘1@&&1

o 2.8, A

X 3. g, A

X 4. SpTdl, TSHRET

Question ID : 26433059414
Status : Answered
Chosen Option : 3

Q.23 ﬁqﬁsﬁﬁ@mwmﬁ o wifa 3@ & forg &1 w1 & g ot
[
Ans X 1. faedl
X 2. 7g9
3. T3

X 4. HAD

Question ID : 26433085307
Status : Not Answered
Chosen Option : --

Q.24 Fgfafed & 9 i wsa § pgradt any fa man ¥, <t e afgar-s=1a, aqen-
s, TRIdt-3= e $riwa U412

Ans X 1. FWRUSY
2. 94
X 3.feer
< 4. FERIY

Question ID : 26433065418

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.25 2200 3R 1900 9% gd F g YRd » FERRT A I PT- A IR @ AN TR R-R P
30 A STET GRT TH IART ST U12

Ans X 1. dRAUYTEH
X 2.
X 3. PRI
o 4. SRBIg

Question ID : 264330105183
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude




Q1 R atw Begsr #, CD «BCA &1 Agfasm=i# gl CD = DA| Ifg £BDC = 76° g,
g £CBD =T 37er ATT fohaar gem?

c

Ans 7 1.66°
X 2.76°
< 3.80°
X 4.32°

Question ID : 26433071287
Status : Answered
Chosen Option : 1

Q.2 3 & S AT ©: Bu-al gR1 I S WIS iha B Wen S giidl 81

Far | Ol
60
90
120
165
180
120

B §RT 31 71 AI5fha o1 TS BT, D GRT 41 TS AISfba &1 T I Ut F1 82
Ans X 1.5:13
X 2.11:6
X 3.11:5
& 4.6:11

sl les M lw i R@ Y iegi

Question ID : 264330105716
Status : Answered
Chosen Option : 4

as qﬁCDSAZi 2. dl cotA Jd BT
Ans x 1 ﬂ
& 2.

X3 —

xXa =

Question ID : 26433065320
Status : Answered
Chosen Option : 2




Q.4 gfg 750PQ TP VI 5-3/H 1T JEAT S 3, 7 3R 11 A AU 8, <t P + 2Q &1 HH I

BiferE]
Ans 1. 17
< 2.16
<3 18
X 4.15

Question ID : 26433063914
Status : Answered
Chosen Option : 1

Q.5 freft fif3ra gff &1 31-RIeTE YT 45 km/h P 16 /, TH-NUTE HRT 60 km/h B =1 F 3R
R URT 75 km/h B T1d A 79 T a1 o8 arn & farg sivra ara ufa et (& axrvaa

Y T Tel) I1d BIE|

Ans X 1.51.25km/h
X 2.58.25 km/h
o 3.49.77 km/h
X 4.45.75 km/h

Question ID : 26433074916
Status : Answered
Chosen Option : 4

Q.6

Ans

3
<1 a2

3
~ 2 (aZ _ 1)5

3
« 3. (2 _ 32)5

3
X4 (2—a)2

Ife tan?0 =1 —a? §, df secH + tan® 0 cosecO T AT FIT g2

Question ID : 26433075831

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.7 TP OIS Bl 20% & ATH TR Rs.60,000 H ST TTI 30% TATH U H3A P g 39 fovg gea

TR AT 91T U172
Ans X 1.Rs.55,000

% 2. Rs.50,000
< 3. Rs.64,000
4. Rs.65,000

Question ID : 26433063471
Status : Answered
Chosen Option : 4




Q.8 36 tftex SoTa A TFH ¢F 492 km T §1 g 33 Wltex Storat A fra=t km Ia TFHa1 872

Ans

< 1.454 km
2. 451 km
< 3.453 km
< 4.452 km

Question ID : 26433066363
Status : Answered
Chosen Option : 2

Q9 FRp+q=6aTUTpq=48,dl p3+q FTHF ATE?

Ans

X 1.256
X 2.64
o 3.144

X 4.81

Question ID : 264330105917
Status : Answered
Chosen Option : 3

Q.10 8 cm FI<aT T & YA 99 TS g &1 50 TR Uedfd v §fF rdTs tr g &

Ans

F% A gBR ToRdl 81 SUTY Sitar Bt darg a1 82
X1 443 cm

v 2 83 cm
< 3. \,'(g cm
X4 243 cm

Question ID : 26433066259
Status : Answered
Chosen Option : 2

Q.11 6 T3Y 3R 8 UFRFATY TH S &Y 10 31 § B THd ¢, Tafb 26 ToW 30X 48 Afgamy it
P B 2 o § B T &1 St B F) H1 F AW 15 736l 3 20 wfgarsit & feaan

Ans

Y AAM?
X 110
X 2.6fH
X 3.8f
o 4. 4T

Question ID : 26433075987
Status : Answered
Chosen Option : 4

Q.12 Ilﬁ' M=—2 S-ﬁT a+b=5c%’,5|3'uf’ € >0%‘,H’l’c$l’ﬂ'l?-|’?i‘l?—l’3ﬁﬁr'l":"l

Ans

ab—bc—ca

X 1.5
X 24
3.8
X 412

Question ID : 26433083084
Status : Answered
Chosen Option : 3




Q.13 I T P B Td DIOTT DT AMTGT 6 cm, 8 cm 3R 10 cm B @ T F M S
TP & TR Bl

Ans X 1.6cm
o 2.12cm
/< 3.3cm
5 4.5¢cm

Question ID : 26433063912
Status : Answered
Chosen Option : 2

Q.14 <=2 four war 9= o 7 fafi Sufrat 3t 3wt 1 g=itar 81 37 9t 7 Sufa &t o [t
%gaoélw?ﬁgﬁﬁﬁaﬁﬁﬁﬂm7mﬁﬁﬁﬁ$mﬁ%ﬁ%w
TRl

D
15

13°
G 4T H P 3N faspl, D 9T | Y 3N faspt & forat wforra ot 82
Ans X 1.24.25 yfa=d

 2.22.86 UfcRId
X 3.18.86 o=
X 4. 56.21 ufa=d

Question ID : 264330105778
Status : Answered
Chosen Option : 2

Q.15 gfeg I\ T e amEn Sroeit qrHTa 91 Y 60% AT | a9 T 7, o 98 36 min. Pt I
J Tiqey R UgddT 8 | el ab Uga- § IUPT AT T (min H) gl
Ans X 1.72
< 2.50
 3.54

X 4.60

Question ID : 26433079954
Status : Answered
Chosen Option : 3




Q.16 315, I SR =M B AT GHTae 31| STA T 5% W Y A | I ) Fa wal &1

30% ToraT | I3 B Fa wal F 32% Ta | fasiar &1 Ted $0 99 e w1 9T Aafe |
5136 T 3f2F T g1 STA 1T Tal $t Fod TS 1 BT

Ans X 1.172100

25264200

« 3.171200

2504.171220

Question ID : 26433066239
Status : Answered
Chosen Option : 3

Q.17

Ans

fafaf@a arfas Rffen 7= & v wygsra b Fuar & Afee
ST T FEEIaT g2iar gl

(T AT AH)
AT
A= el
A" w X Y Z
IR:GEE 200 70 30 290 10 600
3ergs{ 120 130 70 150 290 760
EEErS 45 35 25 125 160 390
feg=R 160 110 40 115 130 555
STl 80 90 70 100 140 480
BT 130 150 30 40 390 740

fader 3R wElr ¥ & Ao X Fr geruar # e R 32
X 1,188
2. 10TRIS
X 3.25 RIS
X 4.8

Question ID : 26433081611
Status : Answered
Chosen Option : 2

Q.18 g YW BT g 480 V.12 8 TUT SHBT YOI13iT BT SUT 10 : 24 : 26 81 AYA BT

Ans

uf¥HTT a7 82

o 1.120 9.1
% 2.60 9.
X 3309
2 4.150 9.

Question ID : 264330105832
Status : Answered
Chosen Option : 2




Q.19 &Y Y=ATSHT BT SUT 5 : 4 § 3R ITPT HGWH JUIUGAP (HCF) 4 B | SAPT AYwH
THIE (LCM) T 272

Ans 7 1.80
< 2.60
/< 3.48
X 4.36

Question ID : 26433074255
Status : Answered
Chosen Option : 1

Q.20 UL A 27,500 B AT aTel U avg TICT SR 3t & g ST+ e & U & 23,500
T YITa | afe Au iy & forg feram mar qremor s 9% wiey a9 € i gart A
@ig ¥ 4 7L a1g Gt I AR FT YA A, A g A4 TR F I AN F
¥q B faraem yrar fasare

Ans X 1.%100
2. 7120
X 3. %132
X 4. %125

Question ID : 26433075883
Status : Answered
Chosen Option : 2

Q.21 T® S 2650 Telax Ted W TP W1 Har Titedl 8§ 3% 30 W 20% 3R 10% Bt
PP P U BT ¢ | 98 TSB! ARATd UR €38 W Hdl & MY 3H 20% & ATH UR Seal
B TR PT f3pT Yoy T4 B

Ans X 1. 2700
v 2 26072
X 3. 3790
X4 Z7.80

Question ID : 26433075791
Status : Answered
Chosen Option : 2

Q.22

428x428—-429%348+348%348
Ans X 1.62080

2 2.80
 3.776

X 4.40

Question ID : 26433075223
Status : Answered
Chosen Option : 3




Q.23 o ™
16 cos® o 12 cos_ =

Ans 1.0
7 2.1
X 3.1
X 4.2

Question ID : 26433056358
Status : Answered
Chosen Option : 1

Q.24 <=2 faar war 991 o 6 fafis Bfdea & Scurea &) axifar 81 59 Wt 6 Biweat &1 par
JeTe 22000 B 1 T fafiy St & Ieure &1 59 At 6 Hrideal & $o IaTe & ufaxa
F U A i w3

P1=A, C, D dYl F ¥ 3id ScdIe & 4|
P2 = B TYT E & TG & o FT e |
(P1 + P2) T HF T 82

Ans X 1.3525
X 2.6545
3. 4565
X 4.2525

Question ID : 264330105781
Status : Answered
Chosen Option : 3

Q.25 T® 58 .11 = a1at g & 42 V.. TETE B o Sitar W= ol 81 W g9 7 42 A
%Mﬁwﬂvﬁmﬁwa{wmﬂmvﬁmﬁmﬁmmﬁ.ﬁ.%ﬁwgﬁﬁwﬁ
?
Ans X 1391
X 2.4,
3. 131

X 429,

Question ID : 264330105866
Status : Answered
Chosen Option : 3

Section : English Comprehension




Q.1 Choose the most appropriate meaning of the underlined word in the given sentence.

Even though Margaret had already eaten a large meal, she could not resist eating two
slices of the delectable pie.

Ans X 1. Rotten
< 2. Nutritious
«” 3. Delicious
/X 4. Stale

Question ID : 26433060305
Status : Answered
Chosen Option : 3

Q.2 Select the correct indirect form of the given sentence.
She said to me, “The charlatan will be breaking into the safe.”

Ans ¢ 1. She told me that the charlatan would be breaking into the safe.
/% 2. She said to me that the charlatan will be breaking in the safe.
/< 3. She said to me that the charlatan is breaking into the safe.

/5 4. She said to me that the charlatan can be breaking into the safe.

Question ID : 264330104609
Status : Answered
Chosen Option : 1

Q.3 Select the most appropriate synonym of the bracketed word to fill in the blank.

For Rahul, everything was a (modern) experience until he stepped onto the
field.

Ans  1.new
X 2. flashy

/5 3. global
/X 4. Asiatic

Question ID : 26433060683
Status : Answered
Chosen Option : 1

Q.4 Select the option that can be used as a one-word substitute for the given group of
words.

Giving the worrying impression that something bad is going to happen
Ans X 1. Desolate
/5 2. Bleak
/< 3. Suspicious
«” 4. Ominous

Question ID : 26433070670
Status : Answered
Chosen Option : 4




Q.5 Rearrange the parts of the sentence in correct order.
We have been
P. able to identify certain patterns in
Q. the microbiome and immune response
R. that are clearly linked to the progression and
S. severity of brain injury

Ans X 1.RSPQ
« 2. PQRS
X 3.PQSR
< 4.QPSR

Question ID : 264330104685
Status : Answered
Chosen Option : 2

Q.6 Select the most appropriate option to fill in the blank.

The monster trucks have very engines, they can probably pull a train coach
without any problem.

Ans X 1. forceful
/5 2. dominant
«” 3. powerful

/5 4. impressive

Question ID : 26433089745
Status : Answered
Chosen Option : 3

Q.7 Select the INCORRECTLY spelt word.
Ans X 1. Cemetery

/< 2. Accommodate
< 3. Intruder

«” 4. Neccessary

Question ID : 26433061043
Status : Answered
Chosen Option : 1

Q.8 Select the most appropriate option to fill in the blank.

The contingent managed to successfully.
Ans X 1. catch the deal

«” 2. close the deal
/< 3. heal the deal
/5 4. park the deal

Question ID : 26433088783
Status : Answered
Chosen Option : 2




Q.9 Select the sentences that contains no spelling errors.
Ans X 1. Our government has launched a relatively extensive set of reforms for aboregynes in
the country.
/< 2. Our government has launched a relatively extensive set of reforms for aborigynes in
the country.
< 3. Our government has launched a relatively extensive set of reforms for aborgines in
the country.
«” 4. Our government has launched a relatively extensive set of reforms for aborigines in
the country.

Question ID : 26433070696
Status : Answered
Chosen Option : 4

Q.10 Select the correct passive form of the given sentence.
He has downloaded the movie on his phone.

Ans X 1. The movie are being downloaded by him on his phone.
«” 2. The movie has been downloaded by him on his phone.
/% 3. The movie is been downloaded by him on his phone.

< 4. The movie was downloaded by him on his phone.

Question ID : 264330104567
Status : Answered
Chosen Option : 2

Q.11 Choose the correct meaning of the given idiom.
A skeleton in the cupboard

Ans X 1. A popular fact to be kept secret
< 2. A popular fact which is not hidden
/<% 3. An embarrassing fact not to be kept secret

«” 4. An embarrassing fact to be kept secret

Question ID : 26433060923
Status : Answered
Chosen Option : 1

Q.12 Parts of the following sentence have been underlined and given as options. Select the
option that contains an error.

Has Gita any previous knowledge of work with junior colleagues?
Ans X 1.Has

< 2. any
< 3. with
o 4. work

Question ID : 26433089358
Status : Answered
Chosen Option : 4




Q.13 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

The new shop that opened last week are hardly sufficient stock of the products that it
advertised about.

Ans X 1.is had
/< 2. hardly is having
< 3. hardly hadn't
«” 4. hardly had

Question ID : 26433081312
Status : Answered
Chosen Option : 4

Q.14 Select the most appropriate ANTONYM of the underlined word in the given sentence.
God has clearly blessed human beings for his glory.
Ans 7 1. Cursed
< 2. Applied
/5 3. Appointed
< 4. Produced

Question ID : 26433060369
Status : Answered
Chosen Option : 1

Q.15 Select the most appropriate synonym of the given word.
Moral
Ans X 1. Symphony
/< 2. Godliness
< 3. Honourable
« 4. Ethical

Question ID : 26433072194
Status : Answered
Chosen Option : 4

Q.16 Select the most appropriate meaning of the given idiom.
Fly into a passion
Ans X 1. To become aggressive often
«” 2. To become angry suddenly
< 3. To be always angry
/5 4. To be aggressive at times

Question ID : 26433072275
Status : Answered
Chosen Option : 2




Q.17 Select the option that can be used as a one-word substitute for the given group of
words.

A person in love with himself
Ans X 1. Lunatic
«” 2. Narcissist
/< 3. Polyglot
/5 4. Stoic

Question ID : 26433073676
Status : Answered
Chosen Option : 2

Q.18 Rearrange the parts of the sentence in correct order.
The rattlesnake
P. it has specialized Jacobson’s
Q. organs, which gives it a heightened
R. knows when to lie low because
S. sense of smell to detect prey

Ans X 1.QPRS
X 2.QSPR
X 3.SPRQ
« 4.RPQS

Question ID : 264330104663
Status : Answered
Chosen Option : 4

Q.19 Select the correct passive form of the given sentence.
Shalu has ordered new copies of the album.

Ans X 1. New copies of the album have being ordered by Shalu.
«” 2. New copies of the album have been ordered by Shalu.
/< 3. New copies of the album has been ordered by Shalu.
/5 4. New copies of the album has been order by Shalu.

Question ID : 264330104565
Status : Answered
Chosen Option : 2

Q.20 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
Rehan and Ronit are / good friends and / it don’t matter to them / as to who is
wealthier.

Ans ¢ 1.it don’t matter to them
/< 2. Rehan and Ronit are
/% 3. good friends and

/< 4. as to who is wealthier.

Question ID : 26433086308
Status : Answered
Chosen Option : 1




Q.21
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The Romans had developed a (1) for chariot racing. The (2) of the game are so
excited that sometimes it may (3) into chaos, confusion and riots. The (4) in which
racing took place was called a circus. The (5) one was the Circus Maximus in Rome, that

could hold up to 3,85,000 spectators, which shows the popularity of the sport

SubQuestion No : 21

Select the most appropriate option to fill in blank no. 1.
< 1. mouthful

< 2. drop
< 3. spoonful
o 4. taste

Question ID : 26433087426
Status : Answered
Chosen Option : 4

Q.22
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The Romans had developed a (1) for chariot racing. The (2) of the game are so
excited that sometimes it may (3) into chaos, confusion and riots. The (4) in which
racing took place was called a circus. The (5) one was the Circus Maximus in Rome, that

could hold up to 3,85,000 spectators, which shows the popularity of the sport

SubQuestion No : 22
Select the most appropriate option to fill in blank no. 2.
«” 1. supporters

X 2. reformers
/5 3. campaigners

/< 4. champions

Question ID : 26433087427
Status : Answered
Chosen Option : 1

Q.23
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The Romans had developed a (1)____for chariot racing. The (2) of the game are so
excited that sometimes it may (3)_____into chaos, confusion and riots. The (4) in which
racing took place was called a circus. The (5)____ one was the Circus Maximus in Rome, that
could hold up to 3,85,000 spectators, which shows the popularity of the sport

SubQuestion No : 23
Select the most appropriate option to fill in blank no. 3.
& 1. transfigure

/X 2. reshape
«” 3. convert

/X 4. adapt

Question ID : 26433087428
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The Romans had developed a (1) for chariot racing. The (2) of the game are so
excited that sometimes it may (3) into chaos, confusion and riots. The (4) in which
racing took place was called a circus. The (5) one was the Circus Maximus in Rome, that

could hold up to 3,85,000 spectators, which shows the popularity of the sport
SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank no. 4.

Ans

& 1. circuit
2. route
” 3. stadium
5 4. track

Question ID : 26433087429
Status : Answered
Chosen Option : 3

Q.25
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The Romans had developed a (1) for chariot racing. The (2) of the game are so
excited that sometimes it may (3) into chaos, confusion and riots. The (4) in which
racing took place was called a circus. The (5) one was the Circus Maximus in Rome, that

could hold up to 3,85,000 spectators, which shows the popularity of the sport
SubQuestion No : 25

Select the most appropriate option to fill in blank no. 5.
&1, larger

/< 2. highest

< 3. higher
o« 4. largest

Question ID : 26433087430
Status : Answered
Chosen Option : 4




